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. A ERISAGHIF SRR 1,2,3,4,5,6, MAEEETEETHE:

1. 1,35 Fta: B 5 x 43 = 320,

2. 13EEBE15 [A: 5 x4 x(4x3x3)x2=1440,
3. 14 [Ffa: 5 x (4 x 3)* =720,

4. BHL 1 Bf1: 5x4x3%x3x3x3=1620,

HF 320 + 1440 + 720 + 1620 = 4100,

®_. AABC H, LAWATIHIE BC B T B.

AW AT = AB-AC — BT -CT. (AIAATHE 48 - L)

#E. . Sa=BC,b=CA, ¢c=AB, BT =rAB =r¢, CT =rb, AT =z,
BRI B cos LBAT = S U o5 JOAT = A2 07
AT BATHE, Bl LBAT = LCAT = <*o—tra? _ Pia—(b)
BHE (b— c)a? = be(b— ) — r?be(b — )
FRLVE 0 # c B, 22 =bc— (rb)(rc) = AT’ =AB-AC — BT - CT.

ME b=ck, LATC =90°, HERXEHEANFHK.




